2022 (2nd-A) A

SSC PART-II (10th CLASS) .
MAEMATICS (SCIENCE GROUP) GROUP-| e - 1,,)’ (L.;,f S
TIME ALLOWED: 2.10 Hours SUBJECTIVE {2 o210 = o

MAXIMUM MARKS: 60 60 = A
NOTE: Write same question number -q.aﬂa.;.,;.g!rfﬁg{ c-,»,»-,%:z»l/-,Ulrgﬁ»;Qb’Qfﬁ ket
and its part number on answer book, as given in the question paper.
SECTION-I Ji.o

2. Attempt any six parts. 12=2x6 -gf_";/;:akfﬁcf—’f'i r——JU( 24
(i)  Solve by factorization, Sx”=30x 552 =30x -y S6Aex )
(iiy Solve by using quadratic formula. 2 — x*=Tx 2 — 3 =Ty W IL B (i)

(i) Define Exponential equation. - J;L»th.-j (iii)

(iv) Find discriminant. 4x> - 7x -2 =0 4x2®¥ 0%y 00 (W)

(v) W\rite quadratic equation of roots. 0, —3 é&’ﬂ/dl)})&g&a‘zé) (v)

(vi) Find product of complex cube roots of unity. (’( A e b’»,-’-gbjﬂ}? AL 06 (vi)
L 2

\ 1
(vii) Ao:-l—z- and A =2 when r =3, o A=172 A}' -q.r=3.é A=24 Axc—  (vi))
r 25 r

find » when 4 =72 0

(viil) Find fourth proportionalto 5, 8, 15 5, 8, 15 /By (viil)
(ix) Define direct variation. ¥ b Gl ()
3. Attempt any six parts. \ 12=2x86 -éiziaalﬁi.ﬁllﬂga.éf -3

b -0 ()

(i) Whatis Proper Fraction? q
(i) Resolve into Partial fracli% _ESE ! (_xi"%_"(‘l;l‘;“ﬁ (ii)
ve,
*

(iy WL={a.b,c}a , 4 } thenfind M x L -;'5"11" MxL daM={3,4}s L={a. b,c}ff (iif)

(v) Find 'a’ if (@=-4,b-2)=(21) n(a=4b=-2)=2 D) agredf b s 'a" ()

V) If 4,7,9} and ¥ ={2,4,5,9} L XNY Y ={2,4,59}4X ={1,4,7,9}1 )

thenfind XY
(vi) Write De-Morgan's Laws. AL LS Wi
(vii) Define Standard deviation. ~2E AL (vil)
(viii) Find arithmetic mean of 200, 225, 350, 375, 270, 320, 290 -._;{r#w@u (viii)
(ix) Find the range for the following data for weight of students: - )fﬂ'-";;’d'yf};ll. (Students) | Uit (%)
101, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62

4. Attempt any six parts. 12=2x6 el linz e S 44y
() Find "p" whenf=4dem, Q= -3 radian t=dem, Q= 1 radian .ﬁéf)" " gt (i

4

2 2

(i) Show that S, SR cosec o + | —_— cosec o +1 J&=t (i)

cosec o —1 coseca — |

(& JJJ)



(ii)) Convert —330¢ into Radian. Edstgtds g
(iv) Provethat (1-sin?0)(l+ tan?0)=1 (1-sin®0) (1 + tan®0) =1 /et (V)
(v) Whatis the difference between obtuse angle and acute angle. _U:fugchd,_,:iJuwl,:Ue)'/ (v)
(vi) Define Secant. S8 Wi
(vii) Whatis the difference between sector of a circle and segment of circle? SO Lot s (i)

i b [Ca|=dom 1 [BC]=3em . | 4B = em
lAB}-:ﬁcm. |BC| = 3em and |CAI= dem

BC &8 (viii)

(ix) Define the escribed circle. G ()
SECTION-II ru.>
24=8x3 <l At E S r L v Y oS

NOTE: Attempt any three questions but question

.9 jScompulsory.

5.(A)  Solve the equation by quadratic formula. 1 E Sl ()5

L e 182 LSS (L)

(B) The product of two positive consecutive numb@

Find the numbers. .

6(A) Solve (¥+5r-(x-3) 6 (x+5P-(x-3) 13 &£ (i)
(x+5)+(x-3) (x+5P+(x-3° 14

. . Tx +4 X +
(B) Resolve into partial f&% s I _é&ﬁﬂ;/d;z ()

(Bx+2)(x+1)°

[®#-x=2) J;JJ{M.’.L?ﬁL={x|xENAxSS}:slM={y|yePAy<10})7 (.7
AxsS5tand M= {yp|ye Pa y <10} then make the relation R = {(x, y)|y -x=2}

S R =
7.(8) IfL={x
fro

(B) ulate the variance of the data. 10,89 7,5 12, 8, 6,8, 2 et For (L)
G Brovia LR o SED et Treml S8 o cesnn. St (B

sinB 1+ cosB sin® 1 + cos6

CA| = dom EPSLWILSLBE i p¥8 ABC (&)
4

-Ust | AB| = 5cm, ‘ BC| = 3cm,
(B) Circumscribe a circle about a triangle A4BC with sides | 4B| = Sem, |BC|=3cm,

=4cm

9.  Provethat: Astraightline, drawn e bty BB S (IS tplath St 9
from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |
Prove that: Any two angles in the same -t iyl -uxgljgﬁu’fuﬁlﬁ».«_ﬂﬁé.ﬁiuéf Sk
segment of a circle are equal,
30-2022(2 ncl-A)-(/ ;_?dMULTAN)



PAPER CODE 2022 (2nd-A) //})f) ) Ay
v g

NUMBER: 3191 SSC PART-Il (10th CLASS)

M@THEMATICS (SCIENCE GROUP) GROUP-| by ed  (oof S P
TIME ALLOWED: 20 Minutes OBJECTIVE [>».2 w420 = =
MAXIMUM MARKS: 15 15= AS

A B IL:(/'JJWJWZ-VTJ"_.&J;_Q: uubﬁc_:cbﬁdfr//(éfdli _u‘t&f:é..} D . C:BA ..-“;LP.—E‘[?LU"}"[ -
£2g-drd) .-b’.«..b-i.:f/d/._}.’._.u‘;fg‘fa‘; i:bzl: b’ﬂn“’w...l.?m&u’._ufJLJQ Sk L LS snlie g L2
Note: You have four choices for each objective type question as A, B, C and D. The choice -u‘x-d'/fr._. Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A L)y
(1) The number of terms in a standard quadratic _.;_;fﬁo/u:’:uf ax*+bx+c=0 : Pl (1)

equation ax®+ bx + ¢ =0 is:
(A) 1 (B) 2 (C) 3 (D

(2) If o, p arethe roots of -4l o+ B Rl 3 5 Sx = :t‘ Ba S @
352+ 5x-2=0 then o« +p isequalto
s 3 LoON s
A) — B) = €y ~i i
(A) 3 (B) i (C) 3 () (D) 5

(3) a®+ B’isequalto: -edi g+ pt ()

78

A o p2 ®) (@ +5 )~ 20 (@ ' ©) o +p
(4) Find x inproportion 4:x::5:15 Q S X A 4ixuS5i15 oF (@)
4 \ \

(A) 2 (B) 3 % T (D) 12
(5) If u = v* then e Q wouxv: S (5
(A) u=Kv? {B]%\ €) w*=K D) w? =1
= - -2
(6) Partial fractions ofm@ e form: el g m )
A Bx +C Ax + B [
():+x+2 e B L er sl 8 i e
(7) Acallection of well ﬁne;bgacts is called: -arm&f- b’lflf Iy (M
(A) Subset % (B) Powerset &z, (C) Set & set ol
(8) The set havi one element is called: -r_rlk- 40 .f ....»fu’ L (8)
(B) Powerset 2rst  (C) Singleton set 2 ...-'C(‘ (D) Subset Lx(§
(9) Meani by changein . _‘Lb‘r.:fﬂ/!c.c;gz# g (9)
in /8 (B) Ratio «’/ (C) Value =i (D) Place .5 '
(10) Adafdin the form of frequency distribution is called: -r_mf frdﬁff" G (10)
(A) Ungrouped data :lro‘-u';i (B) Grouped data :lruuf (C) Histogram J.f ¥ (D)Range =
(1) 20°= =20° (1)
(A) 1200 (B) 360’ (C) 630" (D) 3600"
(12) Through how many non-collinear points, can a circle pass? T ‘w.wigf’ /.:GZJ]J (12)
(A) One LI (B) Two s (C) Three (& (D) Four
(13) Tangents drawn at the ends of diameter of a circle sflests. 0 bﬁﬁuvﬁz‘fxu,y&)ﬂa/b (13)
are to each other.
(A) Perpendicular s+ (B) Non-parallel §1##  (C) Collinear ¢ (D) Parallel (15
(14) The arcs cpposite to incongruent central angles -u'dxu’ JU|:.i.W:.uhl.xd)/‘jlf/uu..(_fb.ﬂ (14)
of a circle are always:
(A) Congruent /1 (B) Incongruent Ji*#  (C) Parallel i (D) Perpendicular s
(15) The circumference of a circle is called: -9?!1;@{5’4.}5: (15)
(A) Chord 2 (B) Segment (C) Tangent W (D) Boundary

30(Obj)( W )-2022(2nd-A)- (MULTAN)



PAPER CODE 2022 (2nd-A) / 1)
MGTHEMATICS (SCIENCE GROUP) GROUP-| be -/ (@l S Fu
TIME ALLOWED: 20 Minutes OBJECTIVE (.2 w220 = =
MAXIMUM MARKS: 15 15= AF

A f | /L):JIJ#JWL_«‘!\.-&:;J u;zl)ég..,d_vz.gl"r//q{db’ u’éi.) D .1 CB-A ..«Li_?,‘@lpﬁ Jrr  w2d
L2421 f;bL;u”/JIJ...mJL/C.; J’:ls.fl: J’n;r‘”b&,b’m‘:kﬁuﬁ‘Jé_A Jok L L—-/JUJ/FHJLIG-J podad)
Note: You have four choices for each objective type question as A, B, C and D. The choice -u‘/ J’/}-w,—
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. i

Q.No.1 _ Ay

(1) Adatain the form of frequency dlstnbut|on is called: o ik (1] (1)
(A) Ungrouped data :lr&:/ /—' (B) Grouped data ,|,~(5,f (C) Histogram .A‘J ¥ (D} Rép

(2) 20°= =20° (2
(A) 1200' (B) 360’ ) 630

(3) Through how many non-collinear points, can a circle pass? tz)f:.bm(f” /c“: ] (3)
(A) One &I (B) Two » C) Three ¢£ Q{D) Four /g

(4) Tangents drawn at the ends of diameter of a circle -u'.Z.,-f Vif;usfﬁ/via./u (4)

are to each other.

(A) Perpendicular s

(5) The arcs opposite to incongruent central angles
of a circle are always:

(A) Congruent J‘b'-' (B) Incongruent
(6) The circumference of a circle is called:

(A) Chord 7
(7) The number of terms in a standard quadrati

equation axl+bx+c=0is
s o 1O

(8) If o« , B arethe roots of

3x*+ 55 —2=0 then

3
® 3

(B) (&t +B)* - 208

4
Byt
(B) 3
(11) If u o v* then
(A) u=Kv? B) u=»?
(12) Partial fractions of x—2 _ are of the form:
(x=-D(x+2
(A)A+B (B}Ax+B
x-1 x+2 x=1 x+2

(13) Acollection of well defined objects is called:

(A) Subset Lx(f (B) Power set &xu
(14) The set having only one element is called:

(A) Null set r il (B) Power set Lzt
(15) Mean is affected by change in

(A) Origin \/g" (B) Ratio =’

(B) Non-parallel (154

) S%m()b

ar BA (D) Parallel Jii#

B L LupisIpfedute gl (5)
) Parallel ()15 (D) Perpendicular »*

etk ()

(C) Tangent ul/ (D) Boundary ¢

s at + bx+ =0 ahle@leds  (7)

©) 3 (D) 4

wds o+ PRl 3t sx-2=0ehle B afi (9
- IS equal to:

2 5
(C) e (D) "z
wde al+ p2 (9)
A
(C) ? B— D) a+p
-g': X (& 4:xu5:15 «F (10
3
(C) = (D) 12
woucvt I (M)
C) w*=K D) w? =1
e At
eldndf wJu_m 5 ™
©) A +Bx+C DAx+B+ C
x=-1 x+42 x-1 x+2
<ty (19)
(C) Set 2 (D) Empty set 2yl
-t wfaliSAR S (14)
(C) Singleton set JD) (D) Subset Vvu‘{
_'a.bmulﬂ;d_/d_'q LrJfL}L? (15)
(C) Value =f (D) Place %
30(0bj)( 3 7 )-2022(2nd-A)- (MULTAN)



PAPER CODE 2022 (2nd-A) s
NUMBER: 3195 SSC PART-II (10th CLASS)

MGTHEMATICS (SCIENCE GROUP) GROUP- - (o PO
TIME ALLOWED: 20 Minutes OBJECTIVE u“’s/",-a? e 20 = &

MM/MLWLMM%%WLUL?JJHC_J u;/l)iz_JLVLJFr//Léb’Jlf -L}"ZL.J D » CB A -.«U:‘.vﬁfbé 1;;= /fﬁ:;
.f,p/.tjlru'i fg.leJff"éfu'uJﬂJJ_/a.{, 3(),11': _fﬂzr"wul?u}au:_ur‘(!&./c; o L L/Q.fu.vfsuluc..-f Ly
Note: You have four choices for each objective type question as A, B, C and D. The choice -u‘f J’);'..,Ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE FAPER.

Q.No.1 A Ay
(1) a’+ p?isequalto: &NH[}? ")
(A) o® - p? (B) (@ +B)’-208 (C) ﬁ*# (D}G’Q
*

(2) Find x inproportion 4:x::5:15 G x 4M:5:15 «F (2
w5 @® 4 5 2 O 12
4 3 4
(3) If wocv® then () wuc? S (3
(A) u=Kv* (B) u=v? (C) w™e Ko (D) w? =1
(4) Partial fractions of ——f-:—z—are of the form: ¥ (:' ;/6!}".’\! P U 4
(x=1)(x+2) e (x=1)(x+2)
A) B ( B QA +Bx+C (D}Ax+B+ )
xfl x+2 l x=-1 x+2 x—1 x+2
(5) A collection of well defined objects is called: 2 bl K?lf h o (5)
(A) Subset JU? (B) POM\Q" (C) Set &~ (D) Empty set <xi
(6) The set having only one element is calle et LAk e (B)
(A) Null set 286 @ set 2rsl  (C) Singleton set...rﬁf (D) Subset ._ru{
(7) Mean is affected by change in ~_,¢t‘mul/f;.4/\)’y il (7)
(A) Origin s\/35" \ Ratio v’ (C) Value =4 (D) Place .G
(8) Adata in the form of freq@ tribution is called: -r_ru[ rrui'd""Jf” s (8)
(A) Ungrouped data » '#  (B) Grouped data :Inﬁsf (C) Histogram .—ﬂo] ¥ (D)Range ==
(9) 20° = ¢ — SR
(A) 1200 (B) 360’ ©) 630’ (D) 36000
(10) Through ny non-collinear points, can a circle pass? hw;f»v_w?f /Z w2 (10)
( 4! (B) Two (C) Three uf (D) Four b
(11) rawn at the ends of diameter of a circle Y0 Y <V 'JVJﬁ:‘UyL}"&&./'J (11)
are to each other.
(A) Perpendicular »* (B) Non-parallel j/i#4  (C) Collinear &% (D) Parallel g
(12) The arcs opposite to incongruent central angles -u"dxu" e L u{:bd)}d Bduke il (12)
of a circle are always:
(A) Congruent ;fi.?‘ (B) Incongruent J‘b“‘/,-f (C) Parallel $.1# (D) Perpendicular ¥
(13) The circumference of a circle is called: -<_:.L'llg@_fi’g}h (13)
(A) Chord 7 (B) Segment .~ (C) Tangent W (D) Boundary
(14) The number of terms in a standard quadratic —‘LJUJJLJ)J)U: al+bx+c=0 =hlflednn  (14)
equation ax®+ bx+c=0is
(A) 1 (B) 2 (C) 3 (D) 4
(15) If @ . B arethe roots of edt o+ PIul 32 sx—2=0eb B a S (15)
3x?+5x—-2=0 then o+ P isequalto:
8 3 2 5
(A) 3 (B) 3 (C) ~3 (D) 3

30(0bj)( W I¢ 3 )-2022(2nd-A)- (MULTAN)



PAPER CODE 2022 (2nd-A)
INUMBER: 3197 SSC PART-II (10th CLASS)
MAGHEMATICS (SCIENCE GROUP) GROUP-I e - .,’.Af ("'i-'

TIME ALLOWED: 20 Minutes

MAXIMUM MARKS: 15

St /':U:,’fl:.'als"faibﬂ":...,fﬁ:‘rua.uf L)J}b?':é_sa.t/[.g]lr;{q@lﬁ _ugﬁ'_'é: D . CB A -.':'E,Lct;ﬁlg.’id'f;

4{4.3!:*;{! -fé..bLJJf/J:(J;w“Jc‘.):.c ,{ju’b _fnxy‘jkﬂ.._.—iﬁuﬁgﬂbu‘gﬁ_.a Juy L i..féfu;}!mp;...l._’r S
Note: You have four choices for each objective type question as A, B, C and D, The choice -Q)f:gj’ﬂ:q.:. Ul
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Tangents drawn at the ends of diameter of a circle
are to each other.

(A) Perpendicular »* (B) Non-parallel (3154

The arcs opposite to incongruent central angles
of a circle are always:

(A) Congruent Ji (B) Incongruent J1»4
The circumference of a circle is called:

(A) Chord s (B) Segment
The number of terms in a standard quadratic
equation ax’+ bx + ¢ =0 is:

(A) 1
If o,

@)

(3)
(4)

(B) 2

(5) f are the roots of -4l

OBJECTIVE (f5.0 P
15= 4F
s

1 /:"J!r

-u&'L}f U’:UJJJVE':;::‘ f) i (1)
(C) Collinear BA bl

Ul e L whemLl  (2)

(C) Parallel ($1# (D) Perpendicular 2+
in‘c.blkfkjh’a.}h
(C) Tangent (D) Boundary

i+ bx+c=0 :aJJL"LjJL#J-;J»

(D) 4

xﬁ;&3x2+5x—2=0.~.«lsl¢ o f

vl

3x’+5x-2=0 then o +p isequalto %
5 3 2 5
A) = B) = Q) == D) -=
® 3 ® 3 () © -3 © -3
6) o’+ B?isequalto % e ot B2
A o~ p? @Hﬁ)z—m © gtz Dosh
(0
(7) Find x in proportion 4\@ -5{(}" X Ld:xu5:15 oF
4 3
") E() ® % © 3 ©) 12
4 3 4
(8) If u v’ then . e uxv: /i
A) u = (B) u=v? (C) w? =K D) w’ =1
! -2 T x-2
(9) Parti of — X% are of the form: _r_dmf f .‘ZJ—
i =1)Cx+2) L GUSEE (x Dl x+2)
B
( (B) Ax ¥ B © A +Bx+C ) Ax+B+ 5
x-1 x+2 x=-1 x+2 x—-1 x+2 x-1 =x+2
(10) A collection of well defined objects is called: - t‘!lfﬁr’-‘ KL._-“"E:‘ ly
(A) Subset w[if (B) Power set sl (C) Set & (D) Empty set <6
(11) The set having only one element is called: bl xuc—)_ﬁ._'ﬂflféf
(A) Null set 6 (B) Power set wrusl  (C) Singleton set 2 (D) Subset wx
(12) Mean is affected by change in g rnjiﬁi}lc.i.fd_'.g? mu}u
(A) Origin isL/&" (B) Ratio =’ (C) Value =4 (D)Place .2
(13) Adata in the form of frequency distribution is called: -‘ariﬁ.ﬂfﬂﬁcﬁ u(r:y Yo
(A) Ungrouped data ,-I:‘du;f (B) Grouped data ;l;‘ds/” (C) Histogram J—"UJ § (D)Range o
(14 [20% = =20°
(A) 1200’ (B) 360 (C) 630 (D) 3600 '
(15) Through how many non-collinear points, can a circle pass? ?‘Lbffc_ﬂ'ﬁ:f /Z 040
(A) One I (B) Two » (C) Three & (D) Four /¢
30(0bj)( 7¥ I ¥ 7)-2022(2nd-A)- (MULTAN)
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PAPER CODE 2022 (2nd-A)

NUMBER' 3194 SSC PART-lI (10th CLASS)

M@HEMATICS (SCIENCE GROUP) GROUP-I gl (o PO
TIME ALLOWED: 20 Minutes OBJECTIVE u":/',»v w20 =
MAXIMUM MARKS: 15 15= Af

A B | SAD 3L P I Esi v g 62 -t LS D s € B A =2 le Ly 2
L2 V._bl..-._/“*/&f.,;:..m&..f j:i.vb —gﬂlww*lflJﬁwuzy‘Jf—& Sk L L-IJUSJJJD’LJQJ &
Note: You have four choices for each objective type question as A, B, C and D. The choice -L‘{_/.-J);..-Ufr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 | /-:U|,
(1) In continued proportion -q_t'mf_,.-rt: ' b H'a' S aib=bic L'?JJ/ (1)
a:b=b:c ,'c'issaidtobe proportional to 'a' and 'A' .
(A) Third |~ (B) Fourth B2 (C) Mean L (D) None of thes e i)
2x +1
2) ——— s = 2
@ &e-n " < @

oty (D) Identity =1
OBISBLE Jher  (3)

(A) An equation =i+ (B) An improper fraction /”.._p.ly-‘ (C) Properfra
(3) The different number of ways to describe a set are:
(A) 1 (B) 3 (C) 2

(4) Theset {x|xeW Ax<101}is: *-M{x|er”slol} (4)
(A) Finite set 2~(%0*  (B) Sub set ...»-J? (C) Null 5&6 (D) Infinite set _»-L,G:;-,-’

(6) The extent of variation between two extreme observation -u‘éfujﬁ..»udl(i&l:’f (5)
of a data set is measured by:

(A) Range => (B) Average k-l e .20\z (D) Decile .a?d}"

(6) The observations which divide a data set into four are called: ~+tuf :gf(‘” gtur"wf skl (6)
(A} Quartiles .Uz (B) Peroentlles.ﬁ ) Deciles <> (D) Median .:k-s

(7) sec?® = sec’@ = PR

(A}l-sme B) 1+ 9 (C)1+tan (D) 1- tan®0
(8) Locus of a point in a plane eqmdlsta% iurxﬁlsflzc..bfu";’wﬂwﬂf.dr‘ (8)

fixed point is called:

(A) Radius ' \7‘ mference k¢  (C) Diameter # (D) Circle «41;
(9) A line which has two poin on with a circle is called: G unSPind L Wl LA (9)
(A) Secant of a of cle cant K/ (B) Sine of acircle  Sine K *h:

(C) Cosine of Cosma ke (D) Tangent of acircle Tangent e #is
(10) The semi cir nce and the diameter of a circle - f:IJd.'J}ﬂf..wL;/’u (10)
niral angle of:
(B) 270° (C) 180° (D) 360°
(11) common tangents can be drawn for two touching circles? ?p_?é&gé_tgub’g&u;}b’gﬁi.fu’]: (11)
(A)" 3 (B) 2 € 1 ©) 4
(12) Anequationofthetype 3*+3°~*4 6 =0 isan: -:..Q.;..fJB‘ +¥ 7 F+6=0cbl (12)
(A) Reciprocal equation ::UE/JJG’ (B) Radical equation = lsl{f.is
(C) Exponential equation ;.f:‘.»JUL-,;" (D) Identity L
(13) If b*—dac >0 butnot zxujué..ax + bx+c= Ou.-’ll/!'f-réfd'{[a b - dac > 0.1 (13)
a perfect square then roots ofax®+ bx + ¢ = 0 are:
(A) Imaginary &4 (B) Irrational #t#  (C) Rational (%t (D) None of these (S ie tul
(14) The nature of the roots of equation LS fru"IJ‘fuL a’+ bx+c=0 b (14)
ax’ + bx + ¢ =0 is determined by:
(A) Sum of roots % ¥/ (8) Product of roots — A b¥,
(C) Synthetic division r’" g,f( -/ (D) Discriminant w@}
(15) Find X inproportion 4: x::5:15 is: -J;rc»f Tk drxa5eols Vel (18)
2 ® 4 © 12 o >
4 3 4
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PAPER CODE 2022 (2nd-A) Ay

NUMBER: 3196 SSC PART-Il (10th CLASS) /

MABHEMATICS (SCIENCE GROUP) GROUP-II b - P ) S
TIME ALLOWED: 20 Minutes OBJECTIVE (37» 2220 =
MAXIMUM MARKS: 15 15= A5

S oo | S 2330 Pl s o I Eria L g (07 - F L L D s C B A a2 Ly S
2gdr RN A5 5| o PRI 9 AT 5 - W 9180 5 S N J../.&fu,;b.,y.;..._g -2
Note: You have four choices for each objective type question as A, B, C and D. The choice d;}_)ld’}ﬁ.-.-u!r
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) The nature of the roots of equation Gl :f-LJrJuJuL ax’+ bx+c=0 2bls (1)
ax*+ bx + ¢ = 0 is determined by: $
(A) Sum of roots 4+ (B) Product of roots — A b¥Y
(C) Synthetic division (£ (D) Discriminant +.433} Q
(2) Find x inproportion 4:x:5:15 is: dned x 15 @
" 2 ® 2 © 12 Ok
4 3
(3) In continued proportion -?rwf__,&: tele 'b! ao a:b=b:c h.,.w[-}'\_)y (3)
a:bh=bh:c,'c' issaid tobe proportionalto 'a' and 'h'.
(A) Third & (B) Fourth (3% (C) Mean L + (D) None of these (Af7dse Lt
L is: o ‘_ﬂ A (4)
(x+1)(x-1) P — e Y (= 1)

(C) Properframign/.rels (D) Identity oL
- GSSURSBLL Jyler  (5)

(A) An equation «hl+ (B)An improper fractio
(5) The different number of ways to describe a set arf:

(A) 1 B) 3 . (D) 4

(6) Theset{x|xeW Ax<101} is: <t (x|xeW Ax<I0l) & (6)
(A) Finite set <r >  (B) Sub s (C) Null set Lxyb (D) Infinite set .:.;-L,ﬁtiﬁf

(7) The extent of variation between two%!e observation -@ifu"}&’.;ué@&:ruj (7)

of a data set is measured by @'

(A) Range o ge Ll (C) Quartile .«f.iz (D) Decile .2y~

(8) The observations which @? ata setinto four equal parts are called: e tl S AUSSIrRG  (8)
(A) Quartiles "4 ) Percentiles .<(j+#  (C) Deciles 237 (D) Median 2l

9) sec’d = 7 sec’ = (9)
(A) 1—si (B) 1 + cos?0 (C) 1 + tan6 (D) 1 - tan®®

(10) Locus in a plane equidistant from a - t'll:r( 4 e :u.-f{}_" bzl Lﬂdﬁ?&:fbﬁ?{ﬁidﬁ’ (10)

fixed [led:
ius (B) Circumference 4¢  (C) Diameter 4 (D) Circle +7s

(11) Aline which has two points in common with a circle is called: _._,{_r,.’lf run_f}‘/ui?uivﬁc_}bﬁgﬁﬁ_ﬁ (11)
(A) Secantof acircle  secant . 7l (B) Sine ofacircle  Sine K /Iy
(C) Cosine of a circle  Cosine ¥ /2 (D) Tangent of a circle  Tangent ke /i

(12) The semi circumference and the diameter of a circle -&bn SISl S (12)

both subtend a central angle of:

(A) 90° (B) 270° (C) 180° (D) 360°

(13) How many common tangents can be drawn for two touching circles? Tg;rékyﬁ..hu V’Z;Cuu’bé..né'.fu”» (13)
(A) 3 (B) 2 ) 1 (D) 4

(14) Anequationofthetype 3* 432" *4+6=0 isan: 4..{%.&(3" +3¥ 74 6=0cbl  (14)
(A) Reciprocal equation =+ (B) Radical equation /sts/ie
(C) Exponential equation ahbélﬁai (D) Identity bV

(15) If p*— 4gc >0 butnot Al s b o .:JJV?HJ&/J{,’? b -4ac>0/ (15

a perfect square then roots of ax? + bx + ¢ = Qare:

(A) Imaginary J‘? /-! (B) Irrational J*’t/{ (C) Rational J’t (D) None of these uif%fa_dwi
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PAPER CODE 2022 (2nd-A) P e

MATHEMATICS (SCIENCE GROUP) GROUP-II oo/ &F D) HU
TIME ALLOWED: 20 Minutes OBJECTIVE (.2 2020 = =y
MAXIMUM MARKS: 15 15= AF

Ao | A3l Ipeene Uil s Ll v J6UIR L E D i CB A az Bl vy 2
{24 -!‘LL;&JJ."’/JIJ.;H‘JLL,{ !DJ?IJ -fﬂxﬁﬂ.,,!ﬁuﬂ&:uﬂ\fi_.fé P & g".../’,c’}(uxfln;yc_.-g il y
Note: You have four choices for each objective type question as A, B, C and D. The choice -4)2;)’;2;»w
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not sclve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Theset{x|xeW Ax<101} is: _.;'_Hkr{x|erA e (1)
(A) Finite set 2§t  (B) Sub set .:-vf (C) Null set e+t (D) Infinite set 2
(2) The extent of variation between two extreme observation -uggﬁ i J;f.v’gf( (2)
of a data set is measured by:
(A} Range =~ (B) Average L~ (C) Quartile #U.kz (D) Degi
(3) The observations which divide a data set into four equal parts are called: =S "(:"utur"; ‘l?r’;lrﬂ.:g,ul (3)
(A) Quartiles .(/\z  (B) Percentiles .4  (C) Deciles 2y ( Ll
(4) sec’d = Q sec’d = (4)
(A) 1 —sin’® (B) 1+ cos’0 (C) 1+ tan@ 1 - tan’@
(5) Locus of a point in a plane equidistant from a -&-k ‘W{Eli,cuc_.ﬁd-‘-’;?:.{h’m‘érlﬁ.ﬁd;—’ (5)
fixed point is called:
(A) Radius 1y (B) Circumference k¥ (C) Di (D) Circle +/h
(6) Aline which has two points in common with a circle is B unSAnd Ll SBd (6)
(A) Secantofacircle  secant /s & ofacircle  Sine e /1)
(C) Cosine of acircle  Cosine te /i angent of a circle Tangent ke /i
(7) The semi circumference and the diameter &f @e) -cbn ISPl e s 7
both subtend a central angle of: \
(A) 90° (B) 270 (C) 180° (D) 360°
(8) How many common tangents can be for two touching circles? &gé@’;huﬂf&u:ﬁuaﬁi_ﬂ,@ (8)
(A) 3 B ©) 1 D) 4
(9) An equation of the type 3% 6=0 isan: -:.Q.;.(DJ 3F+32 F 4+ 6=0whbis (9
(A) Reciprocal aquati@bdf’ (B) Radical equation «=lsl-{S.%
uation e sba (e 5 (D) Identity <t'17
(10) If »%— dac ot EaAlas bx+c= Oafstf?n;f;/'d{;f? b -dac>0/  (10)
a perfect roots of ax® + bx + ¢ = 0 are:
(B) Irrational Ft#  (C)Rational (Pt (D) None of these J#f'0fe 2w
(11) Thegatlige of the roots of equation gl e )?u"nﬁ»é ax’+ bx+c=0 ahe (1)
x + ¢ =0 is determined by:
(A) Sum of roots <+ (ujiz (B) Product of roots — ~ Kujy
(C) Synthetic division <L (D) Discriminant .20}
(12) Find X inproportion 4: x::5:15is: Soad o Adwusils ot (D)
75 4 3
(A) T (B) 3 (C) 12 (D) 2
(13) In continued proportion _g.chf.,.rE tole th'alla' e a:h=mbie ..,fl:'»'Jy (13)
a:b=>b:c ,'c'lissaidtobe proportionalto 'a' and 'B' .
(A) Third (4 (B) Fourth G2 (C) Mean b (D) None of these (e 2o
(14) 2x +1 i o _{I 2x + 1 (14)
(x+1)(x-1) - (x+1)(x-1)
(A) An equation =!sL+ (B) An improper fraction ~_2ly# (C) Proper fraction /- (D) Identity =t\
(15) The different number of ways to describe a set are: ,,‘;.Jmlﬁd’uﬂ AL Slder  (15)
(A) 1 (B) 3 © 2 (D) 4
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PAPER CODE 2022 (2nd-A)

MAGHEMATICS (SCIENCE GROUP) GROUP-I s - ..,J (gt ) P
TIME ALLOWED: 20 Minutes OBJECTIVE %2 w20 =
MAXIMUM MARKS: 15 15= A8

e L J:L:G.?-‘JJU'JUVL?«%W»;.J gs?lsé{.—:&_béul'rﬁ{(_ébﬁ!ﬁ -ugﬁ:é.J D s C B A .:.!,Lr‘!‘,.'«ﬁgnf.difﬁ -ty
UIEDISTD R 7S 1 S S I ) Sats B TR 19T 18 STt PR A ) LS sl LT L EES
Note: You have four choices for each objective type question as A, B, C and D. The choice ..u_'/ﬁy"f‘_-.urr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A Ay
(1) Anequation ofthetype 3% +32 *+ 6=0 isan: -tb§l+.()013”+32“"+ 6=0=l (1)
(A) Reciprocal equation anL—-JF‘ (B) Radical equation «lsl+ i
(C) Exponential equation < isteflie 9 (D) Identity L1
@ If 5*=4dac>0 butnot LaPlat + bx+ om0t lf e>0/i (2

a perfect square then roots of ax*+ bx+e¢=0 are: '
(A)Imaginary 24 (B Irational *t#  (C) Rational (Pt (D) No oot A f e Lty

(3) The nature of the roots of equation N e :F‘L?IJJH N bx+e=0 &b (3)
ax*+ bx + ¢ =0 isdetermined by:
(A) Sum of roots .;:fb’u_.ju (B) Product of roots &/ "
(C) Synthetic division f:‘r &C- (D) Discriminant w4}/ 2
(4) Find x inproportion 4:x::5:15 is: ef x L 4:xu5:15 b (@
w2 ® 2 (C) 12 6 o 3
+ 3 4

(5) In continued proportion -.Lb!k‘;rbf e "b's'a Lab=b:c -pf'ﬂ.)'v (5)

a:b=b:¢ ,'c'Issadtobe proporﬁona% ' ]
(A) Third 1 (B) Fourth #g | ({) an bl (D) None of these uﬁ)fdfc.gﬁul

2x +1 ! 2x +1
) ———————— s 3 Y P S N |
® il 6 - u'r(x+l)(x-—l) ®
(A) An equation =il (B) Ags %fracticm Al (C) Proper fraction ~2h (D) Identity el
(7) The different number of way: % asetare: e OB SBLL Jgler ()
(A) 1 ) X (C) 2 (D) 4
(8) Theset {x|xeW Ax is: bl {x|xeW Ax<10l} 2 (8)

(A) Fintte set o #(B)Subset wr®  (C)Nullseterds (D) Infinite set o567
ali een two extreme observation -ugifJ};Caudb?i&w/ (9)

(B) Average L (C) Quartile 2§z (D) Decile -
(10) The olfsefvations which divide a data set into four equal parts are called: -.ILL'LH/ fgf(.."!ufgr%yﬁffmg'.g! (10)
Yartiles 2l (B) Percentiles -2ys4  (C)Deciles o8> (D)Median sk

(11) sec?® = sec’f = (11)
(A) 1-sin’6 (B) 1+ cos’® (C) 1 + tan20 (D) 1-tan’0
(12) Loocus of a point in a plane equidistant from a et e didie Blrertbi il g (12)
fixed point is called:
(A) Radius 1/ (B) Circumference h#  (C) Diameter (D) Circle +41s
{(13) Aline which has two points in common with a circle is called: -pg;f wWn sl WL SBL (13)
(A) Secant of acircle  secant kb (B) Sine of acircle  Sine /i
(C) Cosine of a circle ~ Cosine ke 7is (D) Tangent of a circle  Tangent ¥ /i
(14) The semi circumference and the diameter of a circle -elbm ,;rjd,‘)}fhj_éﬂég.}b (14)
both subtend a central angle of:
(A) 90° (B) 180° (C) 270° (D) 360°
(15) How many common tangents can be drawn for two touching circles? E‘p_?é'?é—[kd Lf‘f‘fﬁ.u:}bé..:r Z..f':/‘:: (15)
(A) 3 By 2 (C) 1 (D) 4
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2022 (2nd-A)

SSC PART-lI (10th CLASS)
MUHEMATICS (SCIENCE GROUP) GROUP-II s < 5{,3/(
TIME ALLOWED: 2.10 Hours SUBJECTIVE “{Le
MAXIMUM MARKS: 60 60 = /'.}LzK
NOTE: Write same question number -q_@:u.f‘:_{..!fr,@gg @JJ/:}:ZnI/',UIro?:{QEL}lﬁ oy

and its part number on answer book, as given in the question paper.
SECTION-l JiLo

2. Attempt any six parts. 12=2x6 -é{f:.glﬁg:lm{;,d[ 274

() Define quadratic equation and give an example. Eabagy Seiadun ()

(i) Solve by factorization. 5x*=15x ol Q -de‘?-’”': (ii)
.

(i) Solve. x?+2x-2=0 2 M -2=0 &S (i)

(iv) Find the discriminant. 6x*-8x +3=0 @ Bx+3=0 vu{fr:“’vﬂé) (iv)

~1+=3 —l+ﬁﬁ

(v) Find o? if ® > *‘”r}vwmw_ :
(vi) Evaluate. o + @ +1 Qé & 4041 -e‘rfr':"’-v.;
3

(vii) Find a fourth proportional to P+ 93,%&,[ . Pt pa+ g é{r' P,./Wﬁ (i

(viii) Define proportion and give an example. ¢ () -é::d&;:lé_éf/‘lf_/t? (viii)

(vi)

(ix) If wc>ci:i and w =2 when v%@ -gf:’p‘” W okt v=3 w2 w=2 4 waciz A (ix)

b v
thenfind w

(i)  Define proper fra

3. Attempt any six pan(} 12=2x6 -ézfa@lﬁé!mgc.@f ..3/.2J|r
s

E/n )

(i) Resolve i actions. 2] L o
=1 =1 7

(ii) De . EaHerd i

V) If A={a b} and B={c,d)} e Bxd ¥ B={c,d} # A={ab} J @
thenfind B x 4

(V) If Y=2"and T =O'thenfind YT L YUTIn T=0" 0 Y=2¢ /I W

(vi) Ifset M has 5 elements then find the number of _érP:uﬁJJ,ﬂqu-:u: M Jusgbil 5 M A (vi)
binary relations in M.

(vi)) Whatis a Histogram? LB i)

(viii) Find the geometric mean of the observation: 2, 4, 8 2,4,8 EPuigdd Leids i

(i) Forthe given data find the Harmonic mean: 12, 5, 8, 4 12, 5, 8, 4 . EpPI b Lird e s (i)

( é' J;.!)'



4. Attempt any six parts. 12=2x6

(1)

(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

NOTE: Attempt any three questions but

5.(A)

(B)

Convert %T into degree.

Define length of a tangent.

Define triangle.

(2)

-

ez 3 47y
et 1 (1
EUrrs S ;@0

Convert 135° into radian. Sk hs I 135° i
Find @ when ¢ =2em, r=35cm £=2cm, r=35cm £ZEr* 0 (i)
Verify that cotB secd = cosech cotf sech = cosecH fg{ ok (iv)
Define zero dimension. EoHesp v

(vi)

Define arc of the circle. b WA (vii)
Define diameter of a circle, @ -é.éﬁgf}’é:.»}b (viii)

el (i)

(o feplcvbe §f o9
.9 is compulsory. L
+¢=0 -g‘-:J’;.@/ﬁg’.«bu (.5

-épj"‘w e g J,jb’u‘:é’ﬁdf»bﬂug (&)

24=8x3 P s

Solve the equation by completing square.
QJL;"»

The difference of a number and its rec$

Find the number. 6 4

Solve using theorem of co dosdividendo. : ,“éd’axéﬂh’iujﬂ._r_@# ()6
(x-2f(x-4) 12

=2+ (x~4) 13 i
Resolve into partial @5' el =T _;:J:.{;:u,/dfz (<)

. (x+3)(x*+1) (x+3) (F*+1)
MB={14710}4 A={1,3,579} U={,234--—-10} J (.7
23,8, ==eny 10}, 4= 11,3,5,7,9) (AUBY = A'NB' U eibeandf s

{1, 4,7,10} then verify the following: (AUB) = A'NF

The length of 32 items are given below, PSS e iUz (B2) U (L)
Find the standard deviation of the distribution.
Length o 20-22 23-25 26-28 29-31 32-34
Frequency w=hs 3 6 12 9 2
Vet L1 0080 | ERD o sach 1+cosh  _8in0 _ . oseco et ()8
sinB 1 + cosB sin@ 1 + cosO
Circumscribe a circle about an equilateral s 4 duds ﬁ&uuéa_.@a}u A¢§ ABC adtl kel (&)
triangle ABC with each side of length 4cm,
Prove that if two chords of a circle are Lusheifsloe }‘}u?unJ‘L?‘?méa.ﬁbﬁf uj/...-—-.t‘ -9
congruent then they will be equidistant from the centre.
OR | f
Prove that any two angles in the same segment il Wl Ao B LIRS St

of a circle are equal.
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